ITI Computer Operator and Programming Assistant (Python)
Module 11 Introduction to JavaScript

(1). What is the full form of DOM? | DOM T YU 37 &7 §?
(A) Document Oriented Module

(B) Document Object Model

(C) Dos Oriented Module

(D) Development Object Model

Correct Answer : B

(2). What are the three data types supported by JavaScript? | GIWT%FE =1Kd gafiad=
SCTUBR |12

(A) Function, Array & Boolean
(B) Var, String & Prompt

(C) Numeric, Alert & Quots
(D) Number, String & Boolean

Correct Answer : D

(3). What will be the output of the following code snippet? <script type="text/JavaScript”> a =
5+ "9"; document.write(a); </script> | frgfefaa PIs Rate &1 ST3CYcC AT E-T"IT? <script

type="text/JavaScript”>a =5 + "9"”; document.write(a); </script>
(A) Compilation Error

(B) 14

(C) Runtime Error

(D) 59

Correct Answer : D



(4). Which variable declared outside a function in Javascript? | Wﬁwm%
qTeX DI °1 aeaa gt farar mare

(A) Function variable | Waﬁﬂaﬁ
(B) Global variable | Waﬁ'@ﬂ'
(C) Local variable | Fﬁﬁaﬁﬂaﬁ

(D) Object variable | Gﬁﬁﬂfaﬁ@ﬁ

Correct Answer : B

(5). Which programming language’s syntax influences javascript syntax? | m‘;ﬁ'ﬂTﬁI‘T
AW BT Ridey STaTfepe Ridew &) yHifad #3ar 2

(A) C

(B) cosoL
(C) Java
(D) JDK

Correct Answer : A

(6). Which object method is used to return the value rounded down to its nearest integer? |

o Sifssiae fafd 1 IUHRT s9F fMweay SiRTa & R Ma g S AT A S
fore frar s 82

(A) abs()
(B) ceil()
(C) floor()
(D) round()

Correct Answer : C

(7). Which is a free open-source HTML editor developed by Microsoft.? | Insaﬁﬁwm

STAE TP W1 3NUA-IRI HTML BfEer i AT 8?2

(A) Visual Studio Code



(B) Notepad++
(C) Komodo Edit
(D) Atom

Correct Answer : A

(8). What is the return type of the method parselnt()? | faftr parseint () mﬁzﬁa'{qazn

82

(A) string | f&&T
(B) Float | Ul
(C) Integer | ISR
(D) Date | ¢

Correct Answer : C

(9). Which one enables the hosting providers to manage multiple domains on a single server?

| DI AT TH G USTAT3il Bl TH TR IR B3 STAT ST | T&H FI1T 82
(A) Network server | Acdd Jdv

(B) sQL server | T T Te HaX

(C) Web server | 39 Hd

(D) Database server | SETa dX

Correct Answer : A

10). Which is the correct syntax for the function definition? | TPaRI- SfrfE & ﬁI'Q '\‘Iﬁ
Ritem s a1g?

(A) return_type function function_name(parameterl, parameter2, ...) { /*Function’s body*/

}

(B) function function_name(parameterl, parameter2, ...) { /*Function’s body*/ }

(C) return_type function_name(parameterl, parameter2, ...) { /*Function’s body*/ }



(D) function function_name(parameterl, parameter2, ...) as return_type { /*Function’s
body*/ }

Correct Answer : B

(11). Which is the Is a command-line interface for JavaScript and DOM? | JavaScript 3T pom
& o Suis-a15 $eXhd DI AT 6?

(A) JSBin

(B) JavaScript Shell

(C) JSON

(D) Pastebin

Correct Answer : B

(12). Which of the following methods in java script will display a windows having a dialog box
with a specified message, along with an OK and CANCEL button as options? | Wmﬁ
fFrafafaa 7 @ &= It faft faeea & =9 # ok 3ii canceL 991 & 91y v Ay dewr
& 1Y TH SAANT Siod areit fdst wehkia s¥ir?

(A) Alert | 3@l
(B) Request | Rép3c
(C) Confirm | $BH
(D) Prompt | UTE

Correct Answer : C

(13). Which of the following softwares could be used to build a website? | awiﬁﬁ%

fore g & A 919 91 STt aaR S¥AHTd fohaT &Il ST 872
(A) Power Point | UTdR WIgc

(B) Dream Weaver | $1¥ daR

(C) Excel | TAQ

(D) ERP



Correct Answer : B

(14). How will you convert String 35" into integer and store it in integer variable "n"? | 34
String "35” P §f-coR A 4 f¥afdd B3 3T 34 gfeor Afvuad “n” & TULT B2
(A) int n=Integer.Parselnt("35");

(B) int n=Integer.parseint(”35");

(C) int n=integer.parselnt("’35");

(D) integer.parseint(”35");

Correct Answer : B

(15). Which special variable holds more than one value at a time? | ﬁquaﬁﬂaﬁ
TP 9949 0 TP RS Ieg 7@d1 82

(A) Array

(B) Element
(C) Function
(D) Object

Correct Answer : A

(16). Which of the following is not a web hosting company? | ﬁﬁﬁr@aﬁﬁaﬁﬂwﬁw%
BT HU-t T8l 872

(A) Hostgator | Eﬁ'\‘?ﬂﬂ

(B) Blue Host | @Jjﬁﬁ

(C) WPX Hosting | WPX BIf&TT

(D) Facebook | W

Correct Answer : D

(17). Which JavaScript code can be written in? | \_rl'lﬂ'l'%?g s A fHd forar o goar %?



(A) JavaScript file (.js file)

(B) HTML document directly

(C) JavaScript file and in HTML document directly
(D) In style sheets (.css file)

Correct Answer : C

(18). Which keyword is used to define a JavaScript function? | WWF‘[@;{
TRUTR H31 & fore fora F1as &1 IuahT far sman 82

(A) Module
(B) Fun
(C) Func
(D) Function

Correct Answer : D

(19). What is Cookies? | ﬁﬁﬁﬁ T %?

(A) Data Sending In Text File On Your Computer

(B) Deleting Stored Files, On Your Computer

(C) Data, Stored In Small Text Files, On Your Computer.
(D) Local Storage

Correct Answer : C

(20). Who developed javascript? | Wmﬁﬁiﬁﬁlﬁaﬁ?
(A) Brendan Eich | a?::fg?l

(B) Brendan Rich | CERETE

(C) John Eckerl | \_rlvﬂm

(D) John Mauchly | W Hidt

Correct Answer : A



(21). What is the main purpose of JavaScript? | \_rl'lﬂ'l'%?g DTS B%W T %?
(A) Client side validation | UTe U& AATU

(B) Create web browsers | aaam?aﬂﬁ

(C) Read and write files | Wﬁ?ﬁiﬁq% 3R ford

(D) Store data in the server | YA H ST WR B

Correct Answer : A

(22). Which web server has high performance stability simple configuration and low resource

usage? | W%Wﬁsﬁwﬁ'ﬂ%ﬁ%ﬁmﬁﬁﬁmﬁzﬁaﬁwﬁﬁﬁﬁ@%
(A) Apache

(B) IS

(C) Lite speed

(D) Nginx

Correct Answer : D

(23). Which is the online JS Snippet Saver — can use it as an online editor for snippets build
from HTML, CSS and JavaScript? | SITTATS JS AU AR FT AT S - TA HTML, Css 3R
Javascript § fAffa fRadew & fore ue sifams uf$er & 0 A SuHhT &% a@d &2

(A) jsfiddle.net
(B) jsbeautifier.org
(C) jsperf.com
(D) jshint.com

Correct Answer : A

(24). Which is property returns the width of the visitor’s screen in pixels? | ﬁqﬁﬁ'ﬂﬁ%

<it fUrde & fafvrex &t ol &1 disTs dlerdt 82

(A) Width()



(B) Screen width()
(C) Screen.width()
(D) Width.screen()

Correct Answer : C

(25). Which of the following can’t be done with client-side JavaScript? | mm

WaTrepy & 91y A9 & @ a1 A} foean w1 gpdn 22
(A) Validating a form | BTH T JTI"
(B) Sending a form's contents by email | g’ﬁﬁmﬁﬂm USHT

(C) Storing the form’s contents to a database file on the server | paeka) aﬁwﬁﬁw
ST WIsd | TUGId BT
(D) Return avalue | T% 9 @eTT

Correct Answer : C

26). How many different values can be returned by the error name property in javascript? |

STaT&pY § WX W UTUd] gRT fFam SIeT- e egsl TeTd off Johd @2
(A) 3
(B) 4
(€) 5
(D) 6

Correct Answer : D

(27). Which is a statement terminator in javascript? | Wﬁ@ WeHe effRer oA
qre?

(A) ,
(B) ;
() :
(D) ..



Correct Answer : B

(28). Which is JavaScript’s default behaviour of moving declarations to the top of their

containing scope? | éw%:maﬁm%gaaam%%aﬁ&wﬁﬁﬁm JavaScript's DT
Swice IagR s ATE?

(A) Development | STAUHE
(B) Hoisting | IZIRETT

(C) Designing | fSamgfT
(D) Uploading | 3@

Correct Answer : B

(29). What is the return type of the method parseFloat()? | AYS ParseFloat () mﬁﬁm
FTE?

(A) string | &
(B) Float | Tl
(C) Integer | SEIOIR
(D) Date | 8¢

Correct Answer : B

(30). Which JavaScript is use to write into an alert box? | elaz‘a"mﬁmﬁ%mm
STAISpE ST U frar Sirar 82

(A) windows.alertHTML()
(B) windows.alert()

(C) windows.alertBOX()

(D) windows.alertCONTENT()

Correct Answer : B



(31). Which web server provides good customer support if it had any issues? | tri%aﬁ?,‘
U ¢ d DI T 39 o 33 I8P JeTadl Ue Hdl a2

(A) Apache
(B) 1S

(C) Lite speed
(D) Nginx

Correct Answer : B

(32). Which of the following statements is false about hosting? | ﬁyﬁr@aﬁﬁaﬁqw
Y FIRET & IR T 3RT &2

(A) Shared hosting is cheaper than dedicated hosting | %%ﬁgaﬁﬂﬁmﬁm
T awit

(B) Shared hosting is safer than dedicated hosting | %%é%sﬁféﬂaﬁmﬁﬁu‘s‘
gifeeT eiftre JRfAa 8

(C) Dedicated hosting is safer than shared hosting | mﬁﬁﬂaﬁmﬁ%ﬁ;ﬁs
gIfe Srftre JRfga @

(D) Though more expensive than shared hosting, Dedicated hosting is more secure | ATS

IR 3t g1 | 31 wgm 8, Sfedes gl siftres WRda &

Correct Answer : B

(33). What will be the output of the following JavaScript statement? var

grand_Total=eval("10*10+5"); | FUffad STaifSpy et &1 3M3eye =T T2 var

grand_Total=eval("”10*10+5");
(A) 10*10+5

(B) 105 as a string

(C) 105 as an integer value
(D) Exception is thrown

Correct Answer : C



(34). What is the purpose module (%) operator in javascript? | Wﬁmq\w (%)
HTeR FTE?

(A) Percentage value | PIGRIGR G|
(B) Product value | ST PT HeU

(C) Remainder value | SIJHR® eI
(D) Quotient value | HTd BT HIH

Correct Answer : C

(35). Which method joins all array element into string with specified separator? | ﬁﬁg

AWeR & a1y [ d ot ¢ gferde fra flifr A g 72
(A) Join()

(B) Pop()

(C) Push()

(D) To string()

Correct Answer : A

(36). Which statement is used to test a block of code for errors? | 'g'l%‘qﬁ? ﬁl’Q PSP Udh
TP BT YN0 B & o fFrg sy &1 IuaT fFar Sar 22

(A) Catch
(B) Finally
(C) Throe
(D) Try

Correct Answer : D

(37). Which part in loop evaluates the conditions? | ({4 A S A1 U B DT 'ELF'CI'IW
HIA18?

(A) Condition part | HSITE UTd



(B) Increment /Decrement part | ﬁ/ﬁmﬁw
(C) Initialisation part | URIH® AT

(D) Looping part | @W‘HT‘T

Correct Answer : A

(38). Which open source software is used to upload from client to server or download from

server to client? | mﬁﬁwWwﬁmWﬁmﬁmﬁsmﬁ%
fere fore ity WRf OTtedaR &1 IuaRT fohar Sirar 82

(A) PHP
(B) Perl
(C) HTTP
(D) FILEZILLA

Correct Answer : D

(39). Which data type in javascript returns the value ‘True’ or ‘False’? | Wﬁﬁ’l’m

ST UPR gl a1 T’ 52
(A) Boolean | ferad

(B) Dynamic | STUATH®
(C) Object | SHTeuide

(D) String | &

Correct Answer : A

(40). Which is used to access individual value in an array? | wﬁ%ﬁ SICT-3 e T aﬂw
g & fore feaeT Sua farar wmar g2

(A) Content Number | Hee TR
(B) Element Number | Eﬁ-rﬁzw
(C) Table Number | T TR



(D) Variable Number | aﬁ'@ﬁ:ﬁﬂ'

Correct Answer : B

(41). Which brackets is used to write array in java script? | W%Eﬁ@%ﬁl’(’m
e BT SUURT fHaT SITaT 32

(A) Curve bracket | Eﬁfaaﬁ

(B) Square bracket | TWPTIR dPHc
(C) Curly bracket | mﬁﬁ%
(D) Corner bracket | PR dbe

Correct Answer : B

(42). Which assignment operator is equivalenttoa=a * 5? | Cap k)| Gmﬁ:lﬁﬂ' 3T a=
a* 5% SRTER 82

(A) a=5*9
(B) a=*5
(C) a*=5
(D) a=5

Correct Answer : C

(43). Which dialog box give a warning message to the users? | aﬁqmmaﬁa"mqyslﬁ

&1 AT A T 32
(A) alert()

(B) alertBOX()

(C) alertHTML()

(D) alert

Correct Answer : A



(44). What will be the output, if the JavaScript code is executed var x = 1324; var y = new

Number (1324); if ( x ===y) alert (“Yes”); else alert (“No”) | W%?gaﬁs ﬁmﬁasﬁw
wwm var x = 1324; var y = new Number (1324); if ( x ===y) alert (“Yes”); else
alert (“No”)

(A) Infinity
(B) Error
(C) No
(D) Yes

Correct Answer : D

(45). Who interprets JavaScript? | STTATIEPY B SeXUCH BIF BT 82
(A) Client | FTSC

(B) Server | AR

(C) Object | JHTsoide

(D) Class | T

Correct Answer : A

(46). Which is used in web application development, particularly for adding various dynamic

functions to web pages? | hmmﬁmtﬂqﬁ%mm% fagy
U 39 Uel A fafis foxita ot &1 sieq & e

(A) Oracle
(B) JavaScript
(c) C

(D) C++

Correct Answer : B

(47). Which is the the open source web server solution stack package? | Gﬂ'ﬂ?waﬁ'w

HTgRH Wb Ul DI AT 8?2



(A) XAMPP
(B) XAAMP
(C) XAMMP
(D) XAMP

Correct Answer : A

(48). Which is a valid js code to sort element of an array trade? | MQ‘{ a@? & dcd BI I
Y1 & oY T AU SITH BIS B AT 8?

(A) Trade.sort:
(B) Trade.sort();
(C) Sort.trade();
(D) Sort.(trade);

Correct Answer : B

(49). Which is not a type of Popup box in JavaScript? | Wmﬁaﬁqwu"marqa"mm
<TgU TEl 82

(A) Alert Box

(B) Confirm Box

(C) Prompt Box

(D) Html

Correct Answer : D

(50). What is the parameter of the method Date.parse()? | AYS Date.parse() BT WReR
FATR?

(A) date | S€
(B) string | @T
(C) datestring | @'E'@"T



(D) float | T

Correct Answer : C



